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OAdgsale |2 5,000,000 » 14 5,000
OltSLSAAHE 0223 30,000& 128 360
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OAIJIAI 22 =48 M=l 10,000,000& =14 10,000
301 LPENF 3,800 3,800 0
01 A EE & 2563 3,800 3,800 0
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SEEIEEEICETRD) 3,672
O +g 1,320
OFALOIE OlAHIE 30,000
02 2524l 5,000 4,000 1,000
OFEAIRA & 2e] 5,000
202 04l 40,344 39,120 1,224
01 = LHA YI 3,264 4,080 A 816
ogd gR=d 3,264
02 M| 37,080 35,040 2,040
ogd 2,400
OfHZ Olot 34,680
203 R =&t 13,620 12,580 1,040
01 J22FHR2=8I 8,500 7,500 1,000
oJjza2d 8,500
02 33t H 2= 920 880 40
O&EA bt 920
04 EAN2IHRF=EHI 4,200 4,200 0
ORNE2Y 4,200
405 THobH S| 1,000 1,000 0
01 et EFFHSHI 1,000 1,000 0
OHE gR=& 1,000
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SN A
Hau: Ao HHAX WEYD 2E
Ce: AEH SHEHAHA 23 (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 X2 H| 10,000 10,000 0
Oblg ¢ 28 Z2AXH a2 10,000
301 dEtE M= 4,380 4,380 0
01 Al B & X 262 4,380 4,380 0
O3 A LI HAAY 4,380
401 Al HI L 204 HI 5,000 5,000 0
01 Al&H| 5,000 5,000 0
OfRE+= HA XN 5,000
Molog =0l=3 o2& 110,000 110,000 0
201 LBt Y| 10,000 10,000 0
01 AP 22| H| 10,000 10,000 0
OMdl g ¥ =7 AU Xz
10,000,000 1A 10,000
401 AlEHIZL 2 0HY| 100,000 100,000 0
01 Al&H| 99,100 99, 100 0
OEXl ofd HeZ2A 10,000,000 x99. 1% 9,910
OXE O =2 At
10,000,000 *99. 1% 9,910
Qs =2 =22 ZA 10,000, 000& *99. 1% 9,910
O2g OIS == ZAt
10,000, 000& *99. 1% 9,910
OXI| ZFAH & ZA 10,000, 000¥ *99. 1% 9,910
OZXE s ZAH 10,000, 000& *99. 1% 9,910
OgHd NIsa&F &= ZA
10,000, 000& *99. 1% 9,910
OXH 32 =2 Z2At
15,000, 000& *99. 1% 14,865
OotE ol AH B2 ZAF 5,000,000& *99. 1% 4,955
OIZel s& sU 2At 10,000, 000& *99. 1% 9,910
03 Al& 201 Y| 900 900 0
OMaliogr =21=& oiZ 100,000,000& *0.9% 900
A2 THGEH ol g 30,000 30,000 0
401 AlEHI 2 2 0HY| 30,000 30,000 0
01 Al&Hl 29,676 29,676 0
OATFE THOHOl BEAFY 30,000,000 x98.92% 29,676
03 Al 21| 324 324 0
OAMTFHE THOHO BFAFS 30,000,000& x1.08% 324
HEM2AAH (MEH) 55,936 55,560 376
Jl2&ddl 55,936 55,560 376
AEEH J2Ad| 55,936 55,560 376
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2N
X ZH -
L= B

el

02 1x
Mo oz Jo

[mn

0¥ HO 12
02
(O]
=
E
i
e

S

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
201 ¢er24| 14,040 14,040 0
01 ArR 22l 14,040 14,040 0
oy gR=d 11,232
OgE gRFN(S 2,808

202 Oddl 29,376 30,000 A 624

01 = LH 4 Hi 2,496 3,120 A 624
Oogd gR=d 2,496

02 M0 26,880 26,880 0
ogd 200,000 x1H «12& 2,400
OfHZ Olot 170,000& 128 «12& 24,480

203 R =&t 11,520 10,520 1,000

01 122 =2 8,000 7,000 1,000
oJa2d 8,000,000& 14 8,000

02 It S = &H| 520 520 0
OF &t 40,000& 13H 520

04 RFN2ELRZ=TH| 3,000 3,000 0
ORNE2E 250,000& 12 3,000

405 TtHakF S| 1,000 1,000 0

01 AL ESH SHI 1,000 1,000 0
OHE gR=& 1,000,000& «14 1,000
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AN AAHH
X YA FOHAX WEHIA 7=
X

S HAHY HEFMHIA 25 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Osdz2 FH o2d 2,000,000& »23| 4,000
OSSN (U, SSSHETA, 5LIH)
FA o2 68,720 x1H »43| <123 3,299
201 et 1,000 1,000 0
01 At 22l 1,000 1,000 0
DIsE S e 1,000
206 M= Hl 10,000 8,000 2,000
01 =8l 10,000 8,000 2,000
OZ2Zd =48 M= 2,000,000& »23| 4,000
O Z3&d & 233 HEZ A M=
2,000,000& »23| 4,000
OHEZ A ME 2,000,000& *12| 2,000
301 LENF 4,200 4,200 0
01 Al EE X =56l = 3,000 3,000 0
Ox=2S i N2 HAAY 3,000
12 JIEBHE4 3 1,200 1,200 0
Ostdel A 2elel 243 50,000& x12& 600
OBHFE 2|2 Ba43 50,000& 123 600
HoHole =ol=& oiZ 115,000 115,000 0
201 £Br2%| 15,000 15,000 0
01 At 22/l 15,000 15,000 0
OMoHole =0l=3 ZH &It 10,000
ORE== MAXE FHHl X 5,000
401 AIEBIZ 201 8I 100,000 100,000 0
01 A& Bl 98,920 98,920 0
OtEDNS =2 HUIAY
16,000,000& *98.92% 15,828
O=&0S etz HdAY
10,000, 000& *98.92% 9,892
OZRHMiotE =2 FHIALE 7,000,000 *98.92% 6,925
=302 22 ZHIAME
10,000, 000& *98.92% 9,892
Ostd 420 AYE=Z HUIAY
20,000,000& *98.92% 19,784
O ot Jted g dxAd
10,000, 000& *98.92% 9,892
OLI&0ls =2 FHIALY 6,998,000 *98.92% 6,923
O=30t2 =2 FHAMY
20,000,000& *98.92% 19,784
03 Al =2 THHI 1,080 1,080 0
OTHaH Ol & =QI=J At
100,000,000& *1.08% 1,080
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AN AAHH
& AN FOHUX UWERKZA #*=
Sl AN BHAHA 23 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
A2 THOH O & 30,000 30,000 0
401 Al HI L 2T 30,000 30,000 0
01 A& HI 29,676 29,676 0
OAAZ2 THHME At 30,000, 000& *98.92% 29,676
03 Al& 201l 324 324 0
OALAL THOHWE At 30,000, 000& *1.08% 324
Se=ENaA2d 34,358 0 34,358
101 @1 21| 17,588 0 17,588
04 JI2ZtH2ZXNEE S 17,588 0 17,588
Osiaayg 22 oY
3,280 x1H*x20 x 128 17,588
201 LEt2 A Y| 16,770 0 16,770
01 AFR2t2l bl 6,200 0 6,200
o=sxa2g 450,000& 42 J| 1,800
Ost&a 4 L HIXNEE 7
200,000& x12& 2,400
Oosia 29 25+7¢ 300,000& 23] 600
OFXE HasE(s&, YR 8)
100,000& *4 2 J| 400
OFXE =9 & e 2 AT 500,000 *23] 1,000
02 35244l 10,570 0 10,570
O=X& M3t 2= 50,000& =12& 600
OsX&a &) 23 100,000& = 12& 1,200
O=X& =& 23 20,000& x12& 240
o=z )] gz 50,000& x12& 600
ORoldH MHMbHlA 22 150,000& = 12& 1,800
OMlEE, StNEE & 300,000& 2244 =14 600
OREYsEs =48 232 25,000& x12& 300
OFA EII&EH ™ EH 100,000& x13] 100
O&dJ sX&eltl 150,000& = 12& 1,800
Os2Jl 3II18Z& 130,000& *13] 130
OFANLS 100,000& = 12& 1,200
OAlE & &Hl A2 2,000
nessgey 42,188 0 42,188
101 @1 21| 17,588 0 17,588
04 JIZtHIZ22XNHEE 17,588 0 17,588
oXss=g 2 oY
73,2803 1H+x202 x12& 17,588
201 L2 A Y| 24,600 0 24,600
01 AR 22| bl 6,000 0 6,000
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SH: AN
A MY FOHAUX WERKZ =
Sl AN BHAHA 23 (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O=28 KA & E= 2 300,000& x12& 3,600
O=28g ¥4 % HISE 7Y
200,000& =123l 2,400
02 8323l 18,600 0 18,600
O=28 3= gz 50,000& x12& 600
O==28 dIIe3 1,000,000& »12& 12,000
Oo=2=2g =23 300,000& 123 3,600
O==g a5 200,000& »12& 2,400
HY2AZH (AAHH) 58,936 58,560 376
Jl234l 58,936 58,560 376
A D2l 58,936 58,560 376
201 LB-2d| 17,040 17,040 0
01 At 22l 14,040 14,040 0
OHE g2=2 11,232
OHAE ARFA(SeHl) 2,808
02 3323l 3,000 3,000 0
OEAMKA & 22l 3,000
202 o4dl 29,376 30,000 A 624
01 = LH o4 1l 2,496 3,120 A 624
OgE g2 2,496
02 A Y| 26,880 26,880 0
O 200,000& x 18 128 2,400
O8HZ Olst 170,000& »12H «12& 24,480
203 YR =] 11,520 10,520 1,000
01 J22F PR =8| 8,000 7,000 1,000
OoJ1z=2d 8,000
02 FRIaHRE=AY| 520 520 0
O A bt 40,000& »13H 520
04 FN2ILSFAH 3,000 3,000 0
ORA2Y 250,000& = 12& 3,000
405 RHoHF S HI 1,000 1,000 0
01 XL 2 ZF S| 1,000 1,000 0
OHE g2=2 1,000
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2N RE
dM: 2EH FOHAMX WERKZT 2=
el BES HIMHIA 23 (S &2)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHE 2l sHEZ=Z ZHIJ 9F
5,000,000 » 14 5,000
Og4el REEY 2l ony
8,000,000 » 14 8,000
206 M= Hl 48,750 45,000 3,750
01 M= 4l 48,750 45,000 3,750
Ootst2 Hel d2xd Mz 78
43,750,000& 14 43,750
O MM2 ABZH W2 7
5,000,000 » 14 5,000
301 LEd = 3,600 3,600 0
01 Ml2ZE 6= 3,600 3,600 0
O AItE &2 gAY 3,600
401 A& HIZ 2018 10,000 10,000 0
01 A& HI 10,000 10,000 0
Ofg=+=3 MA N 10,000
THoH ol =0ol==& o Z 130,000 130,000 0
201 Let24d] 10,000 10,000 0
01 At 22l 10,000 10,000 0
OMdioe ¥ =57 FHSX= 10,000
401 Al HI K 2018 120,000 120,000 0
01 A& HI 118,704 118,704 0
OE=0tS =2 HHISA
20,000,000& *98.92% 19,784
OS2&0tS =2 HHISA
20,000,000& *98.92% 19,784
OZs0tES =2 HHISA
15,000, 000& *98.92% 14,838
ODNYA U2 ZEHIA
10,000, 000& *98.92% 9,892
Os=XI0t2 =2 HHISA
15,000, 000& *98.92% 14,838
Og=30t232 AIE2 TEI3AM
10,000, 000& *98.92% 9,892
O=30ts sZ2ZZZF3 At 15,000,000 *98.92% 14,838
OEIFR0IE SZ2EESA
15,000, 0002 *98.92% 14,838
03 A& S THHI 1,296 1,296 0
O =0l A 120,000,000% *1.08% 1,296
2oy 2Ael2dg 26,000 30,000 A4,000
201 2et24d] 21,000 21,000 0
01 At 2teltl 5,000 5,000 0
O=zsto & 2el 5,000,000 » 14 5,000
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SN BEY
My BEM HOKX UWEAT 25
o 2= HFANHIA 23S (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
02 3524l 16,000 16,000 0
O23%e & 29 16,000,000& =1 16,000
301 dEtE X = 5,000 5,000 0]
12 JIEtE2 &2 5,000 5,000 0
O & Tz )& 234l 5,000,000 14 5,000
FOUXXHEEH 29 6,000 6,000 0
201 L2 Y| 6,000 6,000 0
01 At 22l Yl 2,500 1,200 1,300
OFUXXHE 22l 2,500,000& =1 2,500
02 =294l 3,500 4,800 A 1,300
OFUXNXHMEH 29 3,500,000& x 14 3,500
A2 THoH o & 50,000 50,000 0
401 AIEHIL 20| 50,000 50,000 0
01 A& bl 49,460 49,460 0]
OAAZ2 THOH O A 50,000, 000& *98.92% 49,460
03 A& 2 0H b 540 540 0
OALA2 THOH O AN 50,000,000& *1.08% 540
HMSHAY (A=H) 79,804 78,500 1,304
Jl=23 bl 79,804 78,500 1,304
2=E0 I =2 &b 79,804 78,500 1,304
201 et A | 24,800 25,760 A 960
01 AFR2 2t 2l dl 19,800 20,760 A 960
OHE g2R2FA 14,688,000& =1 14,688
OHE L2 (S ) 18,360,000& *20% 3,672
Ogas+4 60,000& x24 1,440
02 33249l 5,000 5,000 0
OFARX & 22 5,000
202 04 Hl 40,344 39, 120 1,224
01 2L Y] 3,264 4,080 N 816
OHE g2RFA 3,264
02 &MY 37,080 35,040 2,040
OHE 200,000& x1H x12& 2,400
OfHE 0|5t 170,000& x17H = 12& 34,680
203 ¥R =&H| 13,660 12,620 1,040
01 J|229 P RE=XY| 8,500 7,500 1,000
oJjzaesd 8,500
02 MRt E R =AY 960 920 40
O It&t 40,000& x24H 960
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2H: 2T
Hm: 2N KK HEHD 2=
el ATE HHAHIA 25 (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O=sXzad 2428 ¢ 300,000& x12& 3,600
02 332494l 28,200 28,200 0
O=sXza 29 4 22| 2,000,000& x12& 24,000
OsXza& &I X224l 130,000& 128 1,560
OSXE 2 HINHEY 48
110,000& *123] 1,320
O3z ALEH =25 110,000& *123] 1,320
206 M = Hl 12,000 12,000 0
01 X2 bl 12,000 12,000 0
Od&ax4d Mzl 12,000
301 et X = 4,320 4,320 0
01 AL 2 & & £33 4,320 4,320 0
O3 IHEYE LAAMNY 4,320
401 AIEHIL 201 5,000 5,000 0
01 A& bl 5,000 5,000 0
Ofg=+= MA 5,000
Mololg F=ol=2a o1& 110,000 110,000 0
201 Bt H | 10,000 10,000 0
01 AP 22l Yl 10,000 10,000 0
OMafogy & =72 &y =z 10,000
401 Al HI L 2 0HHI 100,000 100,000 0
01 A& HI 98,920 98,920 0
OJI=0tS THoHol AL 15,000
OZE0tS Mool & AN 15,000
OO0|l&0t=S THoHOl &AL 15,000
OSXI0t2 Mool A 15,000
OB DS THoH Ol 2 AF S 15,000
OueA0tZ THOH Ol AN 8,920
O3 & DS THoH ol 2 AFE 15,000
03 Al 201 Y] 1,080 1,080
OTaoHoe F=0l=a At 100,000,000 *1.08% 1,080
A S THOH ol & 30,000 30,000 0
401 Al HIL 201 30,000 30,000 0
01 A& HI 29,676 29,676 0
OALAZ2 THOH O A 30,000, 000& *98.92% 29,676
03 A& 2 0HH| 324 324 0
OALAZ THOH O Z A 30,000, 000& *1.08% 324
=Y 29 36,800 34,800 2,000
201 LEt2 Y| 36,800 34,800 2,000
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SN 2T
o AW HOKA WEHD 2=
CHOl ATO MEAMHIA 23 S H@)
S B G(SA) - NRANY - BES il 2
01 AFR2t2ltl 8,000 6,000 2,000
os=g |X2e 800,000& 10& 8,000
02 2324l 28,800 28,800 0
OHIIRS 1,400,000 «10& 14,000
O=&e=3 800,000& 102 8,000
Od3R= 30,000& =10 300
OJIEtR3 50,000& =10& 500
OX2==2g 45 ¢ 4 600,000 102 6,000
HY I (ZEH) 65,136 60,680 4,456
Jl2&dl 65,136 60,680 4,456
2xe =R 65,136 60,680 4,456
201 et 20,360 18,360 2,000
01 At 2teltl 15,360 15,360 0
ogd g2=xd 11,232
OHE ARFX(SHI) 2,808
oAl 60,000& 22 1,320
02 =224l 5,000 3,000 2,000
OEAMKA & 2l 5,000
202 o4dl 31,416 30,000 1,416
01 SLHOYI 2,496 3,120 A 624
ogd gfxd 2,496
02 M0 28,920 26,880 2,040
osa 200,000 x1H «12& 2,400
ORHEOIGH 170,000 13 x12& 26,520
203 Y2 X b 12,360 11,320 1,040
01 J1Z2Z YR8 8,000 7,000 1,000
OoJ1&2=29 8,000
02 A& H 2= 760 720 40
OZ &ALt 40,000 19 760
04 EA2I YR 3,600 3,600 0
ORNEEZ 300,000& »12& 3,600
405 XHoHF S HI 1,000 1,000 0
01 HatH ESFH S 1,000 1,000 0
oy gR=d 1,000
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N = 0l & At & Ml A

20224

H
o
2
>
ne
o
ton

S R=Pl

MM dXH ZFOHXX UWERA 2=
Sl HXIY BHAHA 2 (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HXH 321,122 315,746 5,376
X BFHAX WERKZA 25 262,186 257,186 5,000
SXH #HAMHA 25 262,186 257,186 5,000
HHANHIA 2229 81,266 78,266 3,000
101 @121l 9,000 9,000 0
04 JI2ZtH 22 XNEE 9,000 9,000 0
o2 B3st&a g2 oY
9,000,000& 1 9,000
82 A 71,666 68,666 3,000
AP 22| Hl 10,000 10,000 0
OAIRI17] 29 22 2+ 7,000,000 =14 7,000
OFINLHE L MEFRSE  500,000& 42| 2,000
o2 B23st&Ea A
1,000,000& 1 1,000
=523 4| 61,666 58,666 3,000
OFANASHI 1,200,000& x1& 1,200
OAIR4 I3 700,000& *12& 8,400
Odtgs &#IIe3 7,300& *3305 *12& 28,908
OsXg& N8I3 400,000 *12& 4,800
O=sXz 2 24| 5,000,000& =1 5,000
(O r= 60,000& x12& 720
OXNsEHANE X2 120,000& = 12& 1,440
OTVAIE = 16,5003 x12& 198
OREE €523 150,000& = 12& 1,800
OARa R2MH 1,000,000& x1& 1,000
OFAN HIIHHEH =2 100,000& *x23] 200
O&EXE A2 5,000,000& =1 5,000
OXEsXL(¥sd =Xt
3,000,000& x1& 3,000
UBtE N2 600 600 0
SHAIAHI X2 600 600 0
OZdLEHIS ASHA F 600,000& *13] 600
o MEtstd i 35,920 33,920 2,000
o121 d| 6,120 6,120 0
JIZEHIZ22NHEE = 6,120 6,120 0
OZZXH 2L 3,000,000& 1 3,000
Odt&ZHD] o2 130, 000& *8H 33| 3,120
M=l 6,000 4,000 2,000
T 2l 6,000 4,000 2,000
oL HE 7Y 6,000,000& =1 6,000
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S ER=F
M dXY BOKK WEHD 25
Sl HXY BIMHA 25 (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 3,800 3,800 0
01 MI2ZE+5l= 3,800 3,800 0
O=2 X HEL=2 LAY
957t 23] «20,000& 3,800
401 Al HI K 201 I 20,000 20,000 0
01 A& Hl 20,000 20,000 0
OEXH Zi0ts 22 ZEAMY 20,000
THoH Ol & ==0l=3& ofl & 115,000 115,000 0
201 Let24E] 10,000 10,000 0
01 At 22l 10,000 10,000 0
OMofiog & =7 &H X2
10,000, 000& » 1 10,000
401 A& HIZ 201 Y] 105,000 105,000 0
01 A& HI 103,920 103,920 0
Of/E+=S MAHXE 5,000,000& =14 5,000
OOotS0t=S THoH Ol &2 ALY 20,000,000 *98.92% 19,784
OQt5t0tS THoH Gl A 10,000,000 *98.92% 9,892
OJt=20t= THoH Ol &2 ALY 20,000,000 *98.92% 19,784
OF A0S THOH G ZHARR 10,000,000 %98. 92% 9,892
O XI0LS THoH Ol 2 ALY 20,000,000 *98.92% 19,784
O=2/Z0t=S THoH & A 20,000,000 %98.92% 19,784
03 A& S THHI 1,080 1,080 0
O =0l=g35Hz& 100,000,000 1.08% 1,080
A28 THoH ol e 30,000 30,000 0
401 AIEHI L 201 30,000 30,000 0
01 A& HI 29,676 29,676 0
OL72 THOH Ol AL 30,000,000& *98.92% 29,676
03 Al 2 THHI 324 324 0
O27SE THOH M &AL 30,000,000& *1.08% 324
HY2AZH (DXIH) 58,936 58,560 376
Jl2Z3l 58,936 58,560 376
SXIs JI234 58,936 58,560 376
201 ¢er24| 17,040 17,040 0
01 At 2t 2l 14,040 14,040 0
Oogd gR=x=d 11,232,000& 14 11,232
OHE ARFA(SHl) 2,808,000& x14 2,808
02 =224l 3,000 3,000 0
OFASA & 2e] 3,000,000 x 14 3,000
202 044l 29,376 30,000 A 624
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=22l
= - - SHE|

HH .ol (AH) - NSAY - By e

01 = LH 4 bl 2,496 3,120
Ooud g2xz 2,496

02 X 26,880 26,880
O 200,000& x 18 «12& 2,400
OfHZ Olot 170,000 =12 »12& 24,480

203 R =&Yl 11,520 10,520

01 JI22H =4 8,000 7,000
OoJ1229 8,000,000& » 14 8,000

02 ZR &t =&Yl 520 520
OF R Itk 40,000& x13H 520

04 FN2IELSFAH 3,000 3,000
ORA2Y 250,000& 123 3,000

405 THebH S| 1,000 1,000

01 AL 2 S FH S| 1,000 1,000
OHE g2Fd 1,000, 000& =14 1,000
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A & 0l & A & F Al
20228 & =04 LBHSIH LAF ~ NAH
2AM: XAH
3 TAME MK WERKZT 2=
el XIAIS BEAHIA 23 )
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
K AHSH 320,714 309,488 11,226
ANAH XX WERIA =5 258,970 250,928 8,042
KAHH B MHIA 25 258,970 250,928 8,042
HYMHI A 222 83,280 75,238 8,042
101 @14 dl 880 838 42
4 D12t ZE2XREES 880 838 42
OHEA Hel 82d 73,2803 x 18 %123 880
201 Let249H] 81,800 73,800 8,000
01 At 22/l 22,200 14,200 8,000
OFJIHHEE & M2 F=Z  400,000& 4= 2| 1,600
OXIAIHR 22t 40,000& 200 8,000
OAMBIIJl 28 A28 #+& 500,000 128 6,000
OHAIEx 3D AIEZ 50,000& x12& 600
OJIELAFR 22l ] 6,000,000 » 1 6,000
02 =224l 59,600 59,600 0
OF=PNE= 1,200,000& 14 1,200
OMEH HIIR=S 1,000,000& =122 12,000
OJXlzs dJIesa 2,500,000+ 12& 30,000
ORAHIAE RR22 100,000& =122 1,200
Oddt=E 23 400,000& 14 400
OREEs AIER 200,000& 14 200
OSfEE &82= 200,000& »12& 2,400
OFAL HItMFH =2 100,000& 22 200
Oaxdgsale A2 5,000,000 » 14 5,000
OsXzg2 2d2e 3,000,000& =1 3,000
OXEE =XXE KA 22l 4,000,000& 14 4,000
301 LP B 600 600 0
09 HALAHIX A S 600 600 0
OZFLYs s A3 &AL =&
600,000& » 14 600
FoIme MEEHY HA 30,690 30,690 0
101 @14 dl 14,170 14,170 0
04 JIZHHZ2XNSE+ 14,170 14,170 0
O%HE EHIJ 92 2,000,000& »23| 4,000
Otttz 2el =2 1,950,000& 14 1,950
Ostd 2Hi0] 92 2,550,000& »23| 5,100
OS&Z & Atz el A2
1,300, 000& *23| 2,600
O3.1s4& EHIIIHY 2 520,000& 14 520
206 TH 2 HI 1,000 1,000 0
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M XAH
M AAME HFOHUX WERD 2=
SH X

Ehelr XIAHH S A 25 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 M= 4l 1,000 1,000 0
Ostctztel s 2¢ 1,000
301 LA F 5,520 5,520 0
01 MEIBEE 263 3,120 3,120 0
== A4 JHEEE SIAE  3,120,000& «14 3,120
12JEEd= 2,400 2,400 0
ONMZ(ZA =M )2l 243
100,000& »2H x123] 2,400
401 Al HI K 201 I 10,000 10,000 0
01 A& HI 10,000 10,000 0
Oui-ZMH2 24 H¥ BUXH
10,000, 000& 10,000
THoH ol =ol==& o2 115,000 115,000 0
201 Let24d] 10,000 10,000 0
01 At 22l 10,000 10,000 0
OMoiol e & =7 HH X2
10,000, 000& =1 10,000
401 AIEHI L 20 105,000 105,000 0
01 A& HI 103,920 103,920 0
O A THOH Ol 2 A 10,000, 000& *98.92% 9,892
O« THHOI S AL 10,000,000 *98.92% 9,892
Ootatel XHol ol 2 Ak 10,000, 000& *98.92% 9,892
Oz=Zel THol ol &AL 10,000, 0002 x98.92% 9,892
O Al THoH ol & AH 15,000, 000& *98.92% 14,838
O=& THoHO Z AL 10,000, 000& *98.92% 9,892
O3 & THOH Ol AL 15,000, 000& *98.92% 14,838
OUE THOHOI AL 10,000, 000& *98.92% 9,892
OgGd THOH O Z AL 10,000, 000& *98.92% 9,892
OfIg== MAXA 5,000,000 » 14 5,000
03 AIE S THHI 1,080 1,080 0
OO =0l=2 At 100,000,000% 1.08% 1,080
A28 THOH ol e 30,000 30,000 0
401 A& HIZ 201 8] 30,000 30,000 0
01 A& HI 29,676 29,676 0
OL72 THOH Ol AL 30,000,000& *98.92% 29,676
03 Al 2 THHI 324 324 0
OL72 THH Ol AL 30,000,000& *1.08% 324
HEY2AZ Y (KAL) 61,744 58,560 3,184
JlE &3l 61,744 58,560 3,184
KA Jl=Z | 61,744 58,560 3,184
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S XA
Ha: Y2 YA (KA

& 123l (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS

201 ¢er24| 19,848 17,040 2,808

01 ArR 22l 16,848 14,040 2,808
oy gR=d 14,040,000& =14 14,040
OgE RFX(SHl) 2,808,000 x14 2,808

02 =524l 3,000 3,000 0
OFASA & 2e] 3,000,000& =14 3,000

202 044l 29,376 30,000 A 624

01 SLHOYI 2,496 3,120 A 624
ogd g2=xd 2,496

02 M0 26,880 26,880 0
osa 200,000 x1H «12& 2,400
OS¢ 0Ict 170,000& «12H 128 24,480

203 YR =] 11,520 10,520 1,000

01 JIZ2Z YR8 8,000 7,000 1,000
oJzaz2d 8,000,000& «14 8,000

02 A& H =& 520 520 0
OF A Jtat 40,000& x13H 520

04 EAS2IYRFLH| 3,000 3,000 0
ORNEZ 250,000& =128 3,000

405 TtabH S| 1,000 1,000 0

01 AL EZFH S 1,000 1,000 0
oy gR=d 1,000,000& 14 1,000
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